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(M if z =x* 4+ xy3, x = sin(st), y = cos(s + t), then%-:- =?
2) Iff(x) = Vx3+3x+ 2, find £(1)'=?

(3) y&) = (3x* + 1)(2x* — 5x) , then y'=?

@) f(x) = +/cosvx ,then f'(x)=?

(3) IfF(x)=In[x’+3x+2|, find F(2)' =?

©) ) =52, then /(=7

(7 Ifgx) =xsin"'x +vV1—x2 ,then g'(x) =?
® If f(x)=e'™* then f'(x)=2

©) y=4u?+1u=3v°+2,y=6w+4 ,then 1=
(10)The derivative of a function f is shown in the Figure: N jif () 1/\
(A)At what values of xdoes f (x) have a local minimum value? NS
(B)(# L A2)On what intervals is f (x) concave upward? ) i bl 56\ 7 s
4x* +3x% +2x T

(11) Find [; de =2

x*+x+x% 41

x? . . .
(12) f mdx =x- f(x)- 'f 2x - g(x)dx , Use integration by parts to ~determme f(x) and g(x).
(13)Find [x ™ dx =2
(14) (5%) Which of the following statements is correct? | 03 fygz ysin(x?)dxdy =

(&) fz f; ysin(P)dydx (B) [, f; xsin(y?)dydx (©) [ [ ysin(x?)dydx ©) [ [ Fysin(x?)dydx
(15) Find the equation of the tangent to the curve x =1 +In't, y = 2 +2 at the given point (1, 3).
(16) Find [ (1 - 2x)°dx =2

3

17 Find fl’z Inrdr=7?

(18 Find [ €*’ sin(36)d0="?

(19) Evaluate H , ¥vd4 where D is enclosed by the curves y= x*—1 and y=3x.

(20) Which of the following statements is not correct?
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